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1. p+2=9-p.aX p I FAT Frar.

p+2-2=9-2-p
p=7-p
p+p=7-p+p
2p=7

p=35

2. 3p-3=9+p. R p d° FAT Frer.

3p—3+3=9+3+p
3p=12+p
3p—-p=12+p-p
2p=12

p=6

3. 2(q +6)=16. R q T fHAT Frer.

29+12=16
29+12-12=16-12
20=4

q=2

4. 5(2q+3)=17. TR q I fFAT Fer.

10q+15=17
10g+15-15=17-15
10g=2

q=0.2

5. px3=27/p. R p o FAT Frer.

px3/3=27/(px3)
p=9/p
pxp=(9/p)xp
p’=9

p=3

6. 8/p=2xp. al p I FAT FreT.

(8/ Phxp=2xpxp
8.=2p’

8/ 2=22p°/2
4=p2

2=p

p=2

7. 32xq)=9. @ q = AT Fer.

6g=9
60/6=9/6
q=15

8. 4(8/q)=16.TX q o AT Frer.
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32/q=16
(32/49)xq=16xq
32 =16q
32/16=16q/ 16
2=q

q=2

farcll e RIS 3Tell? AT ol ST I, R IqHSC X Yelel ST FeT
31TTOT Yogl Uehel TISAT - aiekhl STH !

o HHIHIUT FEUTS FHII?

o HHHIUT 3GMEI0T (TQ)
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